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Brake Pad Inspection
Other Applications

1.  You’re a contractor who is building a house.  The foundation for a garage must be at least 
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ft.  Just after the concrete is poured, you measure the foundation.

(a) If you measure the foundation to be 
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ft. do you need to pour any more concrete?  Why or why not?
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    If you change to common denominators, you can easily see that you have more than 
[image: image4.wmf]12

7

 ft of concrete, so you don’t need to pour any more.  
(b) If you measure the foundation to be 
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ft. do you need to pour any more concrete?  Why or why not?
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  Again, changing to common denominators helps to see that you still need to pour 
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 of a foot of concrete. 
2.  A particular tire has tread that is 
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in. thick.  Once the tread wears down 
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in., the tires need to be rotated.  Suppose you take your car to the shop and the mechanic measures the tread on your car’s tires to be 
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in. thick.  Should the mechanic rotate the tires?  Why or why not?

If the tread wears down by 
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 of an inch, then the tire tread will be 
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 of an inch thick.  If ours is thicker than this, we don’t need to rotate the tires.  Ours is 
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 of an inch, so the tires do not need to be rotated yet. 
3.  Reduce each fraction to lowest terms:


(a)  
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(b)  
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(c)  
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4.  In each pair below, circle the larger fraction.


(a)  
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or  
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(b)  
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(c)  
[image: image22.wmf]5

2

or  

  

10

3


5.  Arrange each group of fractions in order, smallest to largest.


(a)  
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(b)  
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6.  Express each amount as a fraction in lowest terms.

1 year = 52 weeks


16 weeks = ____
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____ year


32 weeks = ____
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____ year


48 weeks = ___
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